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4.000 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
164.64  (KN/?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP

(H)4000x (B)2650
0.130

=

10kN/m?

4.000

H=

B= 2.650

No.



§3
3.1
3.1.1
@

SV SH e ¢ O

(kN) (kN) (m) Fs Fs (kN/m? )

233.95| 64.01| 0.382 3.59 2.11 | 164.64  11.93 | 0.K.

0.442 1.50 1.50
LD T

164.64

e = 0.382
|

B = 2.650

11.93

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
208.75 64.01 0.436 3.18 1.88 156.54 1.01 | 0.K.
0.442 1.50 1.50
TRITR

156.54

1.01

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 50.5 101.2
6 6
” o ) 0.34 x 10 60.47 x 10
S ™ 2.06 x 10° 49.04 x 10°
gc 0.18 5.28
(N/mm*) o ca 10.00 10.00
gs 2.2 1244
(N/mm*) o sa 160 160
T 0.02 0.19
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 101.2 50.5
6 6
M o ) 60.47 x 10 0.09 x 10
S ) 17.68 x 10° 3.74 x 10°
gc 5.28 0.05
(N/mm*) o ca 10.00 10.00
gs 1244 0.6
(N/mm*) o sa 160 160
T 0.07 0.04
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

2)

x y)

No.



4.2.1
@
1)
A X y A X Ay
(m) m @) | @ (m) (m) (m)
2.650x 4.000= 10.600 | 1.325| 2.000 14.0450 21.2000
al- 0.170x 0.500= -0.085 | 0.215| 3.750 -0.0183 -0.3188
b|-1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433 -0.0661 -0.6618
c|- 2.300x 3.700= -8.510 | 1.450 | 2.150 -12.3395 -18.2965
d|-1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243 -0.3593 -0.0476
el - 0.050x 3.870= -0.194 | 2.625| 2.065 -0.5093 -0.4006
1.343 0.7525 1.4747
Vo=SA L= 1.343 x 1.000 = 1.343 (n*)
o
V =Vo yc= 1.343 x 24.5=32.90 (kN) ¢ e
2ZA X 0.7525
X s A 1.343 0.560 (m) ;
A y 1.4747 C,
y S A 1.343 1.098 (m)
2
1)
A X y A X Ay
(m) m @) | @m (m) (m) (m)
2.520x 3.870= 9.752 | 1.390 | 2.065 13.5553 20.1379
a|-1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367 -0.0509 -0.3718
b|- 0.170x 0.170= -0.029 | 0.215| 0.215 -0.0062 -0.0062
c|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 -0.2091 -0.0367
9.255 13.2891 19.7232
Vo=SA L= 9.255 x 1.000 = 9.255 (m*)
V. =Vo ys= 9.255 x 19.0 = 175.85 (kN)
a
SA X 13.2891 ‘
X = s A 9 255 1.436 (m)
b c
Ay 19.7232 o
y S A 9.255 2-131 (m)

No.



4.2.2
V =g b L=10.0x 2.520 x 1.000 = 25.20 (KN)
x =B -2 = 2650 - 220 _ 1 300m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  4.000 (m)
a = 0.00 ) 7gk§?m)
W = 110.86 (kN/m) [ 23.09] :
w = 600¢)) I
5 = 0.00 () 50.0
® = 30.00 C°)
25.0
0804 50 60 70 8 90
w()
by = 110.86 x sin(60.00 - 30.00)
~ cos (60.00 - 30.00 - 0.00 - 0.00)
= 64.01 (kN/m)
NN
w Pa W
64.00 63.168 93.65
63.00 63.532 97.83
60-00° 62.00 63.793 | 102.09
61.00 63.944 | 106.42
*  60.00 64.005| 110.86
59.00 63.951 | 115.37
58.00 63.794 | 119.98
57.00 63.528 | 124.68
56.00 63.161 | 129.50
V = 64.01 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 64.001 x cos( 0.00 - 0.00) x 1.000 =  64.01 (kN)
X = 2.650 (m)
y = ~4-000 = 1.333 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.650 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.650 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.650 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 32.90 0.560 | 1.098 18.42

2 175.85 1.436 | 2.131 252.52

3 25.20 1.390 | 4.000 35.03
4 64.01 | 2.650 | 1.333 85.33
z 233.95 64.01 305.97 85.33

3
2
1 —4
U
Fs = >V p +c B L 233.95 x 0.577 + 0.0 x 2.650 x 1.000
- ZH - 64.01
= 211 Fsa = 1.5
Z Mr 305.97
Fs = s Mo 85 33 3.59 Fsa = 1.50
R
ZMr - Z Mo 305.97 - 85.33
d = sV ) 233.95 = 0.943 ()
R
e = 2 -d= 2:650 0.943 = 0.382 (m)

0.382 (m) 4%7 B = 0.442 (m)



3)

v _

Q2

>V

6 e

233.95

B

+
L (1t B

164.64 (KN/?)
11.93 (kN/n?)

):

164.64

2.650 x 1.000

x (1%

6 X

LT

e = 0.382
1

L

B = 2.650

11.93

0.382
2.650

)

No.
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5.2.2

D

2)

No.

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 32.90 0.560 | 1.098 18.42
2 175.85 1.436 | 2.131 252.52
3 64.01 | 2.650 | 1.333 85.33
z 208.75 64.01 270.94 85.33
2
KE—3
1
U
Fs = >V p +c B L _ 208.75 x 0.577 + 0.0 x 2.650 x 1.000
- ZH - 64.01
= 1.88 Fsa = 1.5
> Mr 270.94
Fs = s Vo 85 33 3.18 Fsa = 1.50
R
> Mr - X Mo 270.94 - 85.33
d = sV ) 208.75 = 0.889 (m)
R
e = 2 -d= 2'250 - 0.889 = 0.436 (m)
1
le] = 0.436 (m) 5 B = 0.442 (m)
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No.

3)

¢ _ ZV . 6e 208.75 , 6x 0.43
¢ B L 5 )7 2e0x 1000 ¢ (L 2.650 )
156.54 (kN/m)
1.01 (KN/m?)

1.01

156.54
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No.
6.2
6.2.1
1)
Pa
a = 3.04 () g/
W o= 5.00 (k\/m) [ 3.36] .
© = 56.10 (°)
5 = 20.00 (°) o 7
@ = 30.00 (°)
1.0
0% "4 S0 60 70 80 90 100
w(C)
ba - 5.09 x sin(56.10 - 30.00)
& = "cos (56.10 - 30.00 - 20.00 - 3.04)
= 2.24 (kN/m)
NI T D T T T T
|, 56.10°
w Pa W
61.00 2.195 4.22
60.00 2.211 4.39
59.00 2.223 4.56
58.00 2.234 4.74
57.00 2.239 4.92
* 56.10 2.242 5.09
56.00 2.239 5.10
55.00 2.237 5.29
54.00 2.229 5.48
53.00 2.223 5.69
52.00 2.203 5.88

17



2)

No.
Pa
a = 3.04 C) 7gkg/m)
W = 117.10 (kN/m) [ 25.73] ’
w = 57.00 (°)
o) = 20.00(0) 50.00
® = 30.00 ()
25.0]
0% 4o 50 60 70 8 90 100
w()
by = 117.10 x sin(57.00 - 30.00)
" cos (57.00 - 30.00 - 20.00 - 3.04)
= 53.29 (kN/m)
NN
w Pa W
61.00 52.634 101.21
57.00° 60.00 52.915 105.05
59.00 53.122 108.98
58.00 53.250 113.00
* 57.00 53.290 117.10
56.00 53.245 121.30
55.00 53.099 125.57
54.00 52.879 129.99
53.00 52.553 134.50
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) ) ) (kN) (m)
2.24 20.00 3.04 2.06 0.167
53.29 20.00 3.04 49.04 1.233
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6.3
6.3.1

6.3.2

6.4
@

No.

H=2.06 (kN)
H = 2.06 x 0.167
= 0.34 (kN m)
H = 49.04 (kN)
H = 49.04 x 1.233
= 60.47 (kN m)
b = 1000 (mm) |ooooooo|J§>AL
d = 90 (mm)
As = D19 - 7.5 ! 1000 !
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2149 2 x 1000 x 90
= 1+ /14
1000 15 x 2149
= 50.5 (mm)
M= 0.34 (kN m)
S = 2.06 (kN)
_ 2 M _ 2 x 0.34 x 10°
b x d- Ag, 1000 x 50.5 x ( 90 - 52'5 )
= 0.18 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
- M _ 0.34 x 10°
- X - 50.5
As d - 3 2149 x (90 - 3 )
= 2.2 (N/mm*) osa= 160 (N/mm*) 0.K.
_ s 2.06 x 10°
~ b d 1000 x 90
= 0.02 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
3
b= 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2149 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2149
= 101.2 (mm)
M= 60.47 (kN m)
S = 49.04 (kN)
2 M 2 x 60.47 x 10°
oc= x 101.2
b x d - 3 1000 x 101.2 x ( 260 - 3' )
= 5.28 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o = M B 60.47 x 10°
ps d - = 2149 x ( 260 - 032y
3 3
= 124.4 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 49.04 x 10°
" b d 1000 x 260

= 0.19 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7 ( )
( )
7.1
1
2.350
¢H)
A X
(m m ) (m A x (m)
2.350x 0.300= 0.705 1.175 0.8284
a| -1/2x 2.300x 0.170= -0.196 1.533|  -0.3005
b - 0.050x 0.170= -0.009 2.325|  -0.0209
0.500 0.5070
SA x 0.5070
X =75sa T om0 o 0
S =A yc L= 0.500 x 24.5x 1.000 = 12.25 (kN)
M =S x = 12.25 x 1.014 = 12.42 (kN m)

No.

21



&)

A X
(m m ) (m A x ()
2.350x 3.870= 9.095 1.175 10.6866
a|-1/2x 2.300x 0.170= -0.196 0.767 -0.1503
8.899 10.5363
A X 10.5363
X = 5 A = 8899 - 1.184 (m)

S =A ys L= 8899 x 19.0 x 1.000 = 169.08 (kN)

=
1]

S x = 169.08 x 1.184 = 200.19 (KN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.350 x 1.000 = 23.50 (kN)

x
1]

1.175 (m)

M =S x= 23.50x 1.175= 27.61 (kN m)




©)
D

2)

Q:
Q2

Qs

164.64 (KN/?)

11.93 (KN/m?)
G + (G- G) 44%3,: 11.93 + ( 164.64 - 11.93)x ;:ggg
147.35 (KN/m*)
@ +q) I L ( 147.35 + 11.93) x 2.350 x 1.000
2 - 2
187.15 (kN)
L 2 g +q _ 2.350 2 x 11.93 + 147.35
3 o + O -3 11.93 + 147.35
0.842 (m)
S x = 187.15 x 0.842 = 157.58 (kN m)

156.54 (kN/m?)
1.01 (kN/m?)

I,
O + (- Qz) B

138.93 (KN/n?)

= 1.01 + ( 156.54 -

2.350

1.01x — 650

(@ +q) b L ( 138.93 + 1.01) x 2.350 x 1.000
2 - 2
164.43 (kN)
I 2 g +q _ 2.350 2 x 1.01 + 138.93
3 o + O -3 1.01 + 138.93
0.789 (m)
S x = 164.43 x 0.789 = 129.74 (kN m)

No.
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7.2

iy
No S M
(kN) (kN m)
1 12.25 12.42
2 169.08 200.19
3 -187.15 -157.58
4 23.50 27.61
17.68 82.64
Mo = 60.47 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 12.25 12.42
2 169.08 200.19
3 -164.43 -129.74
16.90 82.87
Mo = 60.47 (kN m) M
M = Mo

60.47 (kN m)




7.3

No.
3
b = 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 260
_ 1+ /14
1000 15 x 2149
101.2 (mm)
M= 60.47 (kN m)
S = 17.68 (kN)
2 M _ 2 x 60.47 x 10°
b x d- Ag, 1000 x 101.2 x (260 - 10;'2 )
5.28 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 60.47 x 10°
ps d - = 2149 x ( 260 - 032y
3 3
1244 (N/mm?) osa= 160 (N/mm*) 0.K.
S 17.68 x 10°
b d =~ 1000 x 260
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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§8

8.1

€))

O]

A=b

A=b

w
1]

h = 0.05

A yc L=

S x =

h = 0.05

A ys L=

S x =

0 x 0.130 =

0.007 x 24.5

0.17 x 0.025 =

0 x 3.870 =

0.194 x 19.0

3.69 x 0.025 =

0.007 (m*)

x 1.000 = 0.17 (kN)
0.00 (kN m)

0.194 (m*)

x 1.000 =  3.69 (kN)
0.09 (kN m)

No.

26



3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.050 x 1.000 =  0.50 (kN)
x = 0.025 (m)
M =S x= 0.50x 0.025= 0.01 (kN m)
)
iy
o = 164.64 (kN/m*)
o = 11.93 (kN/m*)
¢ =g + (- q) 44%3,: 11.93 + ( 164.64 - 11.93)x g:ggg
= 14.81 (kN/m?)
s - (@ +q) I L _ ( 14.81 + 11.93) x 0.050 x 1.000
- 2 - 2
= 0.67 (kN)
y B 2 g +¢ _ 0050  2x 11.93+ 14.81
T3 o + g -3 11.93 + 14.81
= 0.024 (m)
M = S x = 0.67 x 0.024 = 0.02 (kN m)



8.2

2)

D

2)

No.

G = 156.54 (KN/m?)
@ = 1.01 (kN/m?)
G :qz+(m—(p)‘4g¥: 1.01 + ( 156.54 -  1.01)x &gi
= 3.94 (kN/m?)
. (@ +q) I L ( 3.94+ 1.01) x 0.050 x 1.000
2 2
= 0.12 (kN)
. l. 2 @ +g _ 0.05  2x 1.01 + 3.94
3 o + O T3 1.01 +  3.94
= 0.020 (m)
M = S x = 0.12x 0.020=  0.00 (kN m)
No S M
(kN) (KN m)
1 0.17 0.00
2 3.69 0.09
3 -0.67 -0.02
4 0.50 0.01
s 3.69 0.08
No S M
(kN) (KN m)
1 0.17 0.00
2 3.69 0.09
3 -0.12 0.00
s 3.74 0.09
s = 3.74 (kN)
Moo= 0.09 (kN m)

28



8.3

No.

| O 0 000 0O |44EgL

b = 1000 (mm)
d = 90 (mm) ‘ 1000 ‘
As = D19 - 7.5 ! !
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 90
= 1+ /14
1000 15 x 2149
50.5 (mm)
M= 0.09 (kN m)
S = 3.74 (kN)
2 M _ 2 x 0.09 x 10°
b x d—% 1000 x 50.5 x (90 - 52'5)
0.05 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 0.09 x 10°
X - 50.5
As d - 3 2149 x (90 - 3 )
0.6 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 3.74 x 10°
b d 1000 x 90
0.04 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



